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Graph of restricted tangent function
and its inverse.
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21. + 0/ points

Find a model for simple harmonic motion satisfying the specified conditions.

Displacement, d Amplitude, a Period
(t=0)
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18. + 0/1 points

Fire towgf A is x A 33 kilometers due west of fire tower B. A fire is spotted from the towers, and the bearings from A and B
are 6 f N 74° E akgee=="T 60° W, respectively (see figure). Find the distance d of the fire from the line segment AB. (Round

”two decimal places.)
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Use a graphing utility to graph the function.

f(x) = m arcsin(2x)
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